vk,

i [X20224F EEE_1 HEEUS ARG RIE M X A5 B A TR

FS |RiFERAER #H SHiES EIRIES BIRER | REEA KEANL AW R | &F
1 NHEE ¥k | 41kklllkriolokrkgé GX016054 BE CRE=%) 2 1589.5 %
2 NiEE fhdr | AfwikkilkoklRk] 3 GX016068 KI5 1 3095. 6666666666665 %
3 NEE gk | 4 ekkkkrlllkrk34 GX016117 g 2 1589.5 x
4 ANTEE Frkx | AfklkkicllrkioRbe] GX016192 g 1 3500.0 I
5 NEE gk | 41ekkRkkkkkkkkkk] 2 GX016209 1% 1 4166. 666666666667 i
6 NFHE BErk | 41%kkRckkkikkRkk75 GX016215 KIE 1 3333. 3333333333335 i
7 NTEE EHk | | 5kklkrikikikkrk3s GX016401 FIE 1 3333. 3333333333335 T
8 NTHE bl I i) GX016411 [y 2 4089. 5 T
9 NHEE BRx | 41kblrillkiokkkrks GX016443 5 1 3750.0 x

NS MFE | A1kwrkpkkkiokkikok X GX016516 KI5 1 3333. 3333333333335 %
NiEE BXRE | 41ekkrkkolkk)3 GX016525 g 1 3179.0 I
NTEE ZEkk | 41 kkkllllllololckgh GX016532 18 2 1000. 0 I
AHEE L Rl I Y RV GX016533 KRIE 1 3670. 3333333333335 I
NEE kx| 41wkllrokiRiokikk34 GX016585 [y 1 3179.0 x
NiHE Xk | 4kkkkilkkikkk 30 GX016694 * 15 1 4166. 666666666667 I
Nl Tk | 4pekkkrkkkookkakb GX016730 KIE 1 3833. 3333333333335 x
NHE XiFE | I7kkkkkkiollolkkkk3 GX016733 [y 2 1589.5 ¥
Nl Zokk | 41Rpkkepkkioiklr] X GX016760 g 1 3750. 0 I
NEE {Exx | 41%plklrkickekiollkg) GX016815 g 1 3179.0 X
NTEE Bk | G2wkkkkkiioklikrk) b GX016817 KRIF 1 3416. 6666666666665 yin
N Tk | Afrkkpokiokkolk3s GX016818 RIE 1 3300. 0 I
NIEE FHx | 41%ekkkrikipkkkgs GX016822 BE GE=%) 2 2508.0 x
NTHE ZEkk | 41wkkkklllilkkgg GX016898 25 3 2954. 444444444445 x
NEE Tk | 41ekkkrilkrioklkk] X GX016936 K IE 1 3333. 3333333333335 i
iR Bk | 41wkklblkkookkkk) 7 GX016947 KI5 1 4166. 666666666667 I
N Tk | Apekkekkkkokllrks b GX016949 KI5 1 4166. 666666666667 i
NiEE x| 41%pkkkiklkiokllk34 GX016974 EE GH=%) 1 4178.0 I
NTEE Trr | 41ekkkckkkpkollikgX GX016975 BER GE=F) 1 3179.0 x
NEE R | 4pkkerikirillrioklg GX016978 RIE 1 3071.0 — L HF
NiEE RE | 4Pkkkelkelollrk) 6 GX016981 [ 7 3416. 6666666666665 %
NEE FTrk | 41ekkeckkkklolRir] 7 GX016987 FKUE 1 3500. 0 x
NEE IR | 41ekkRckkkioklRok] 3 GX016989 KIE 1 3600. 0 i
NEE Bk | 41kRpkkkrlkkpokk] 5 GX016992 BE GE=%) 1 2000.0 I

FLIW 60X




34 NN ek | AlkkRkkkkkkkkkkkk) GX017002 KIE 1 3333. 3333333333335 I
35 NHEE Exk | APRRRekllllRRRk5 4 GX017008 25 1 3333. 3333333333335 I
36 NHEE FOkk | 41xrrkbbkbkkrkkk] 5 GX017010 5 (RE=%) 1 4166. 666666666667 I
37 NEE Tk 23kkkkkkkkkkkokk0 3 GX017037 BEE GHE=F) 2 1589. 5 x
38 NEE Jokk | 41RRkskkkkokkkkkkQ 7 GX017046 [y 2 3500. 0 I
39 NHEE gk | 41krkillelolollkkrk3() GX017059 KIE 1 3333. 3333333333335 T
40 NHEE TRk A1 FFRkkRkkkkokokk 68 GX017070 KIg 1 3500. 0 I
41 N Tk | A1RRRRkkkkkkRRRRA | GX017081 2% 1 3333. 3333333333335 I
42 NN Fkk | 41kkekkkkkkkkkkkd0 GX017097 [ 1 3333. 3333333333335 I
43 NEE Bk 41FRRRkkkkkk) 7 GX017114 KI5 1 3333. 3333333333335 I
44 NIEE XUk | 41 rmkkkkkokkkkkkk 79 GX017117 oiE 2 1666. 6666666666667 x
45 NIEE gk | 41kkkkkkkkkkkg 6 GX017124 oiE 1 3833. 3333333333335 I
46 ~EE ek | 41%Rrkkiolololololollk 8 GX017127 KIF 1 4000. 0 I
47 ~HE PF* 41 FrkrkkkkollkRRk 3 7 GX017129 2ig 1 3333. 3333333333335 T
48 NERE FERE | Apkrekkkkkkkkdk)4 GX017133 2% 1 4000. 0 I
49 NG b el I s V) GX017135 25 1 4000. 0 Jc
50 NiEE Bk | 41kl g | GX017137 [y 1 3333. 3333333333335 I
51 NIEE Bk | 41kekkkkrkkokkdkk 7 GX017139 &L 1 3333. 3333333333335 I
52 NI Bk | 41ekkikkkokkkrkkkg g GX017141 25 1 3333. 3333333333335 I
53 NHE Bk 1 4kkrrskdkkkkllk) 7 GX017143 =y 1 3179.0 I
54 NHEE Bk | 4 rkellllollok k% 39 GX017145 Sig 1 3179.0 I
55 ~HE el I bt 1 GX017147 [ 1 4166. 666666666667 I
56 NHE Amkk | A7 kklellkkrkkkkk | GX017149 B2 1 3333. 3333333333335 I
57 PNHE | FErek | Alkeckeckikle 7 GX017166 BE (GB=%) 1 4000. 0 I
58 NHE JLRK | A1erkkkkkkkkkkkk 79 GX017163 F 5 1 3333. 3333333333335 i
59 NIEE Xk | 41 kkkkkskskskkkkkkk] Q GX017165 o IE 1 3333. 3333333333335 I
60 NiE gokk | APkkkkkRRRRRk34 GX017167 F UG 1 3500. 0 I
61 NHEE ke | Arereekkkkkkkkddlg GX017169 oI 1 3333. 3333333333335 I
62 NHERE Bk | Afkkkkkkkkkkrkkk3() GX017171 2% 1 4166. 666666666667 I
63 NHEE Rk | AfksrkkptReks3 GX017174 Big Z 3256. 1666666666665 I
64 KRR gk | 41 kkkllklokkokokokkk ] 3 GX017176 F i 1 3179.0 X
65 NFEE il B Rt GX017178 =y 1 3333. 3333333333335 T
66 NIEE Tk | 41 kkkkkkkkokkkkkk) 7 GX017180 FK U5 1 3333. 3333333333335 I
67 NHE AB* 41 FRRkkkkokkokkok 1 GX017190 F & 1 3179.0 I
68 NHE e BT i e e GX017194 S 2 2666. 6666666666665 I
69 NHERE ok | 41wrkilllollkkkdok] 1 GX017197 2% 1 4166. 666666666667 I
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70 rHEE &* 41 FFpplolollollk kK5 ) GX017198 K& 1 4166. 666666666667 I
71 NHE Tk | 41wkkkkkrkllirk)() GX017200 F 5 1 4166. 666666666667 ¥
72 NHEE Bk 41%FRpkklkkkkkk] 7 GX017203 [y 1 3750. 0 I
73 NHE Bk 41Kk FAAAAAKT Y GX017219 KI5 1 4166. 666666666667 i
74 NHE Fskk | 41Rpkklkkrolklir] X GX017218 oiE 1 4166. 666666666667 T
75 AR L Rl I e T GX017216 25 1 4166. 666666666667 I
76 NEE FExE | 41%kklkrrkbokirir] 5 GX017226 FIE 1 4166. 666666666667 T
77 NIEE gic* 41 FRppiclololollk kKK T 7 GX017234 KiE 1 3179.0 ¥
78 LHEE ek | 41wrkkkkllblkkkk4 GX017237 [y 1 4166. 666666666667 I
79 NHEE Fokk | 4PRklokkkrrkrek)g GX017241 2iE 1 4000. 0 T
80 NFEE HRk | 23Fkrkbkkkkkkikk] 9 GX017255 FK U5 1 3833. 3333333333335 I
81 NEE Fokk | 41 wboklolokrkkkkkkk] 4 GX017261 B 5 . 1666. 6666666666667 *
82 NHE EH* 41 %kRkrrkkokokkokkk ] 9 GX017257 KIE 1 3333. 3333333333335 x
83 NHE Ik | 41%rRpkkRRkollRk33 GX017260 oig 1 3179.0 I
84 NHEE XIJ* 41 ciokkrkkok R Rk 33 GX017265 EiE 1 3179.0 I
85 NIEE Sk A1 RxppkkkkdddR % )G GX017268 2iE 3 1059. 6666666666667 I
86 NHE gkk | 41kkkkkrklolkkkk] GX017269 o5 1 4166. 666666666667 i
87 NHEE Fokk | Akkklkblkkkkkkrk] 6 GX017271 215 1 4166. 666666666667 T
88 NHE Bk | 41%rkkikkpblllkk] 7 GX017273 25 1 3200.0 T
89 NHEE gk | 41kkkkkkkiolollRk3 X GX017276 2% 2 1666. 6666666666667 T
90 NEE ok | 41 kkmkkkkkkkkkk k59 GX017280 2 1 3333. 3333333333335 x
91 NHE Bk | 4ekkklkllllkekk37 GX017283 [=E 2 2083. 3333333333335 I
92 NIEE Fokk | Akkkklkkkkkiokgl GX017285 EE 1 3333. 3333333333335 I
93 NHE Bk | 41%eckkRpkoioing 3 GX017286 RIE 1 3333. 3333333333335 T
94 NHEE fRkx | 41¥kkkkkkikkkkkk 7Y GX017290 [y 1 4166. 666666666667 I
95 PR Xikk | 41 dokckokekepeksokskokokorok | 1 GX017292 =4 1 4166. 666666666667 I
96 NTHE gik* | 4ekkkkkbllolkkrkAg GX017297 =1 1 3179.0 I
97 NS Zokk | 41 kkkkkiklokokkk ) GX017298 K& 1 4000. 0 I
98 NHE Fokk | 41kRkkkkkkllRk)s GX017308 [y 3 1133. 3333333333333 T
99 NN Bk | Arrilllllkkkkkk7 b GX017315 215 2 3215.0 I
100 NEE Fikk | 41keekkklllokkkkk] g GX017317 [y 1 3333. 3333333333335 I
101 NEE Rk | A1wkkklkkkklkikd | GX017325 25 9 1589. 5 I
102 NN Skk | Akkkkkkkkkpiook] 7 GX017327 S 1 3650.0 I
103 ~HEE Tk | 41wkkklllkkkkkkk] 3 GX017330 B 1 4000. 0 T
104 NHE Zokk | 41%pkkRkRollg() GX017340 BR GHE=4%) 3 1059. 6666666666667 I
105 NHEE Rk | 41wkkellllkkkkkk] § GX017344 B GE=4F) 1 2833. 3333333333335 I
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106 NE Bl | 41%kmkkkrrkokkkior] 4 GX017346 S 1 4000. 0 i
107 NE Fokk | Afkkklllllkkkkkk)g GX017350 25 1 3179.0 e
108 NiEE gk | 41kkkkkkikkkkkkk] 9 GX017352 =5 CGRiE=%) 1 3179.0 I
109 NEE ARk | 4pkkkkkplllkkiok3g GX017354 2% 3 1916. 6666666666667 *x
110 NHEE ek | grrkkiokkkkkkkk k57 GX017359 [ 2 2583. 3333333333335 I
111 NHE Bk | A1 kkklelolklkkk k) 6 GX017363 Big 1 2400. 0 i
112 NHEE B A1RRkkRRRRRR R, GX017366 ER GE=%F) 1 2500. 0 ¥
113 NHE §ﬁ** P m—p—— GX017372 =Y 1 4000.0 I
114 NFEE Sx 41FRkkkkkoook | 6 GX017373 =5 (R#E=%) 1 4166. 666666666667 I
115 NEE SRk | A kkkkkkkkkRkk() 7 GX017374 o2& 1 3179.0 I
116 NHE sk | ARrRkkkkkkkk Rk 7 GX017378 =5 (R#=9%) 1 3460.0 I
117 NS fEik | 41%kklllkkkokkdkdk5) GX017381 =35 1 3750.0 ¥
118 NE Bk | 41kblelriclolRiollkk ] 5 GX017382 EE# (RFE=1F) 1 3333. 3333333333335 i
119 NHEE Uk | 41kkklolololkollkkkk44 GX017384 CHE=4) 1 3333. 3333333333335 ¥
120 ~HRE Egkk | 41xpblklkkilolollk09 GX017386 {@1.% 1 3166. 6666666666665 I
121 NiEE [=]* 4 wwrookokkkkk ] 1 GX017389 2ig 3 1250. 0 I
122 NEE ik | 41kkklkkkkkkkdrk] 3 GX017400 =y 1 3500. 0 ¥z
123 NHEE PRl B R I GX017402 2 1 3333. 3333333333335 x
124 NE SRk | 41 ekkklllkkk ) GX017403 F G 1 3700.0 I
125 NHE B Rl I R 1 GX017428 2 2 3179.0 T
126 N i) ek | 41errkilllllkkk* 08 GX017430 [=h 7 2 1791. 6666666666667 I
127 NHE el I U it 19 GX017432 2 1 4166. 666666666667 I
128 NHEE s 41Fkkkklkkkkokokokk7 3 GX017438 i 1 3750.0 T
129 NEE Bk A1 FrRkkkkdA AR, D GX017440 2iE 1 4166. 666666666667 I
130 NHEE giokk | 47 kkkkllkkilok X GX017442 =8 1 4166. 666666666667 I
131 NEE Errk | 41¥kkrsskkkokkrkk 2 GX017450 =3 2 3000. 0 I
132 NHE SRk | 21kkeklkpklelkikkok 24 GX017452 BR (=) 1 2000. 0 T
133 NHE kx| g7kkkkeeklklkkikok X GX017454 2§ 1 4166. 666666666667 I
134 NHE Fokk | 41RpkkkkRclRRRx)5 GX017461 55 CGE=%) 1 3333. 3333333333335 ¥
135 NHEE Bk | 41kkkrkkkkskkkdk) 7 GX017463 EiE 1 3179.0 I
136 NHEE filvkk | 41 kpicllolokrkolkokk k45 GX017470 KIE 1 3807. 1666666666665 o
137 NHEE SRRk | 41wekkkkrpkllRak)() GX017473 BR2 GE=4) 1 4166. 666666666667 I
138 ~HEE gk | 41 kkkklkrrkkrioRk2 GX017476 2§ 1 3179.0 x
139 NHEE Blxk | 41%kkkklllookkerk] 4 GX017477 =8 3 2119. 3333333333335 I
140 niRE Xk | Akkkkkkkkkk ] 7 GX017482 B 2 2123. 7916666666665 T
141 NiERE gk | 4kkklolkkkeeekkk()Q GX017486 B 1 3179.0 x
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142 NIHE Eokk | 4kkklllkikkkkik] 9 GX017490 5 4 1333. 3333333333333 I
143 NHE Filviek | 41 xkkdokolokkkkkkg 7 GX017492 B5 GE=9%) 2 1666. 6666666666667 ¥
144 NFHE F* A1¥RRRRRRRRRRRk A ) GX017498 K iE 1 3333. 3333333333335 ¥
145 Nl FERE | APkrkkrkkkkokkk] 3 GX017502 215 1 3179.0 I
146 NIEE TRk | 41 kkkkkkkkkkkiok) g GX017506 i 1 3179.0 I
147 NIEE o il B S T GX017524 F 15 1 4000. 0 I
148 NEE Bk | 41 kllllkiokkkkk] 9 GX017526 2IE 1 4166. 666666666667 T
149 NiEE =k A1 FFdkkokkkkokokokok | GX017533 BF GHE=F) 1 4166. 666666666667 I
150 NEE Frkk | ARkkkkekkkkkkiok| 7 GX017535 oIE 2 2345.0 I
151 NIHE i A1RRRRRRRkkkokokk 7 | GX017539 2% 1 4166. 666666666667 I
152 NiEE JEkk | 41kkkkkkikkkiork) GX017543 2ig 1 3333. 3333333333335 I
153 NHE Ak | 41wrkkkkkkklkkkkqQ GX017545 KIF 1 4000. 0 I
154 NHE X1 * 41 FkRrkiokokkkkkk 1 | GX017553 2 1 3179.0 I
155 NHHE S ARk Rk 48 GX017555 25 1 3179.0 T
156 NFHE Xk | 41 kkkkokskskkkkiokkn] ) GX017561 5 CRiE=%) 3 1059. 6666666666667 x
157 NHEE Fokk | 4rkkklokkkkkkkk] () GX017567 FKIE 1 3900. 0 I
158 NiEE [=]* T R 2 A GX017568 BIE 1 3500. 0 ¥
159 NHHE Fokk | 41kkkkkkkkkkiokq4 GX017576 oi% 1 3179. 0 I
160 N Xikk | A1 kkkkkkskkkkrrk) 7 GX017578 BE (K#=4F) 2 1666. 6666666666667 I
161 NHE SRRk | 41kkkkkkklolollkk3 6 GX017582 2 1 4166. 666666666667 I
162 NHEE Sk | 41 kkklklkkkkkiiek4() GX017597 oiE 1 3333. 3333333333335 x
163 NERE gick A1xkrpRkkkkkdkk ) 4 GX017599 5 (KiR=%) 1 3333. 3333333333335 I
164 NIEE Xk | 41 Fkkkkskkokdookkok 4 3 GX017603 [ 2 2000. 0 I
165 NiERE BRE | ARRkkblkkkk] 6 GX017605 L 1 3179.0 =
166 NHEE TRk | 41kRkkiolkklokkkkQ 7 GX017615 25 3 2339 729000909999 T
167 NEE X[kk | 41 kkkrdohdololololokkok)Q GX017616 Kig 1 3800. 0 I
168 N R | 41RRkkkkkkkkiokg 3 GX017618 F & 1 3583. 3333333333335 I
169 NAE Tk | 41kRRkkkokkikkkg7 GX017629 25 1 3600. 0 I
170 N Rk | ARRkkkkkklrkokk] 2 GX017631 =8 1 4000. 0 I
171 NFE Tk | 41kkkkkkkkkkkiik() GX017638 2% 1 3333. 3333333333335 I
172 NHHE Bk 41 FFkkkkbbokk kK3 | GX017640 [y 1 4166. 666666666667 I
173 NIEE FRE | g1 kkkkkskskskokoololok g | GX017644 [y 1 3333. 3333333333335 I
174 NHE Dk | 4kkkkllkkkiiook5 GX017650 [y 1 4083. 3333333333335 T
175 N E sk 41k ok 3K GX017653 (8] 1 4166. 666666666667 i
176 NIEE Btk | 4Rkl 8 GX017659 E5% GE=4F) 2 2000. 0 x
177 NHE ERkk | 41 dbbkkkkkioklok 49 GX017663 2% 3 1100. 0 I
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